9.4: Distance, Midpoint, and Parallelograms
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To find the distance between two points, we can use:
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What is the midpoint of a segment?
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3) Find the other endpoint of the segment. -

a) Endpoint: (4,-3) Midpoint: (-8,-6)
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b) Endpoint: (-7,6) Midpoint: (-5,2)
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How would you find a distance that was % the distance from an endpoint?
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4) Find the coordinates of the following points:

a) The endpoints of a segment are (4,5)and (4, -
11). Find the coordinates of the point on the

segment that is % the distance from (4,5).
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Parallelograms

b) Find the coordinates of the point on the segment
that is 1/3 of the distance from (4, 5).
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What does it mearr for two hnes to be parallet? What does that mean about the slope of the lines?
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Betow is a diagram ofa parattelogram. After stu

parallelograms.

dyirg the diagram, see if you can fill out the four properties of
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Properties of Parallelograms

1) Oppopsite sides are ’D{U"&.“b\
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3 find the value of x and the measurement indicated in each parallelogram.
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4) Quadrilateral ABCD has the following points: A(2, 5), B(-2, 7), C(-1, 3), D(3, 1). Plot these points on the grid
below.
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know that parallelograms have

arallelograms that we explored earlier, we
If we can prove either one of these

Based on the properties of p
and opposite sides that are congruent.

opposite sides that are parallel
things about a quadrilateral, then we will have proven thatitis a parallelogram.

6) Quadrilateral JKLM has the following points:
J(-5.0), K(-2,2), L(1,-2), M(-1,-4). Prove or disprove by
distance that the quadrilateral is or is not a
parallelogram.

s) Quadrilateral QRST has the following points:
Q(3,0), R(1,1), S(4,5), T2,3). Prove or disprove by
slope that the quadrilateral is or is not a

parallelogram.
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